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QUESTION 1

An experimental design that starts with a baseline phase, followed by a treatment phase, then another baseline phase,
and ends in the same type of treatment phase is called a (n):

A. ABA design.

B. reversal design.

C. multi-element design.

D. multiple baseline design.

Correct Answer: B

QUESTION 2

Which does NOT increase the effectiveness of punishment?
A. availability of alternative responses

B. inability to avoid the punisher

C. intermittent delivery of the punisher

D. reinforcement frequency for alternative behavior

Correct Answer: C

QUESTION 3

Which is the BEST example of stimulus generalization?

A. Bonnie learned to choose and wear coordinated outfits but after one month she would only select red oultfits.
B. Jim was taught to say "hello" and continues to say "hello” to his trainer.

C. Ricky became more productive in math and simultaneously his reading improved.

D. Tim learned to ask for help from his teacher and now can ask a fellow student for help.

Correct Answer: D

QUESTION 4
This graph BEST exemplifies:

A. clear demonstration of an effective intervention.
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B. a decrease in variability due to the intervention.
C. a change in the level between baseline and intervention phases.
D. a change in the trend between baseline and intervention phases.

Correct Answer: C

QUESTION 5

Staff alerts you that one of their clients seems to become aggressive when he has not consumed food for several hours.
This phenomenon demonstrates the effect of a(n):

A. Discriminative stimulus
B. Conditioned stimulus
C. Establishing operation
D. Negative reinforcer

Correct Answer: C

BCBA VCE Dumps BCBA Study Guide BCBA Braindumps

BCBA VCE Dumps | BCBA Study Guide | BCBA Braindumps 3/3


https://www.pass2lead.com/bcba.html
https://www.pass2lead.com/bcba.html
https://www.pass2lead.com/bcba.html
http://www.tcpdf.org
https://www.pass2lead.com/bcba.html
https://www.pass2lead.com/bcba.html
https://www.pass2lead.com/bcba.html

